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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Winter Examination-2015

Subject Name : Basic Electronics
Subject Code : 2TEO3BEE1 Branch : Diploma (Electrical)

Semester : 3 Date :10/12/2015 Time :2:30 To 5:30 Marks :70
Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions:
a) What is the barrier height of silicon and Germanium?
(i) 0.7v and 0.3v
(ii) 0.3v and 0.9v
(111)0.03v and 0.09v
(iv)0.3v and 0.7v
b) Frequency range of radio frequency Oscillator
(i) 20 KHz
(i) 500 KHz
(ii1)500 MHz
(iv)Upto GHz
c) Zener Diode can be used as
(i) Power amplifier
(ii) Voltage Amplifier
(iii) Positive feedback amplifier
(iv) Voltage regulator
d) What is Full Name of SCR
(i) Silicon control rectifier
(if) Semiconductor control rectifier
(ili)Semiconductor Current regulator
(iv)Silicon control regulator
e) The intersection point of DC load line and Base Current is
(i) Operating point
(i1) Quiescent Point
(iif)Both (i) and (ii)
(iv)None of above
f)  In which Diode Zener breakdown can be occurred.
(i) Lightly doped
(i) Heavily doped
(iii)Wide Depletion layer
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(iv)All of above
g) Majority Charge carriers in P type semiconductor are
(i) Electrons
(if) Holes
(iii) Both (i)and(ii)
(iv)None of above
h) The ratio of RMS value of AC component in output and DC component is known
as :
(i) Ripple Factor
(i) PIV
(iii) Voltage gain
(iv)Rectification Efficiency
i) Relation between AC current gain o and 3

() a=-2L

™

.. _ B
(ll) o = ﬁ
(ii)g = —
(iv)Both (ii) and (iii)
j)  For constant collector base voltage graphical relation between is Input
Characteristic of CB transistor.
(i) Vesand Ie
(it) Vec and I
(iii)Vcc and Ie
(iv)VEBand IC

k) is Bidirectional device having same doping concentration in
junctions.
(i) Triac
(if) SCR
(iii)Diac
(iv) IGBT
) is useful to protect from Thermal run away of power transistor.
(i) Washer
(i) LC tuned circuit
(iii)Insulator
(iv)Heat sink
m) In class AB amplifier conduction of collector current is

(i) 360°
(i) 180
(iii)Between 180" to 360"
(iv)< 180
n) is the condition to get sustained Oscillation.
(i) Ap>1
(i) Ap=1
(iiAB <1
(iv)All of above
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Attempt any four questions from Q-2 to Q-8
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Q-4
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Q-6

Q-8
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Attempt all questions

What is filter? Give the types of filter and explain any one in detail.
Explain working of RC phase-shift oscillator and give its advantages and
disadvantages.

Attempt all questions

Draw three configuration of both PNP and NPN transistor.

Draw and explain Energy Band Diagram of Conductor, Insulator and
Semiconductor .

Attempt all questions

Derive the expression for D.C. current gain adc and Pdc and also derive relation
between a.c. current gain a and p.

Explain working of Colpitt oscillator and also give comparison between Hartley
and Colpitt oscillators.

Attempt all questions
Explain D.C. Load Line and operating point for common emitter amplifier.
Compare class A, class B, class AB & class C power amplifiers.

Attempt all questions

Explain Zener Diode as voltage regulator.

Draw and Explain working of Triac and its applications of it.
Explain power derating Curve.

Attempt all questions

Draw and explain complementary symmetry push pull power amplifier.

Draw and Explain the construction, characteristic and Two Transistor Analogy of
SCR.

Attempt all questions
Explain the working of full wave centre tap rectifier and also give its advantages
and disadvantages.

Define the following terms.
(i) 1CBO,
(if) Forbidden energy gap
(iii) Intrinsic semiconductor
(iv)Rectification efficiency
Define power gain, voltage gain and current gain for transistor as a CE amplifier.
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b)

d)
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9)

h)

Attempt the following questions:

RASA wA ¥Ho{lar ol AR slefe otlcl ?

(v) 0.7v ¥a 0.3v

(vi) 0.3v 33l 0.9v

(vii) 0.03v ¥al 0.09v
(viii)  0.3vaa1 0.7v

1l gl 2{lAzR He ugdlell 3o 8.

(v) 20 KHz

(vi) 500 KHz

(vii) 500 MHz
(viii) Upto GHz

A33 BotR saAsell GuA(l B.

(v) Power amplifier

(vi) Voltage Amplifier

(vii) Positive feedback amplifier
(viii) Voltage regulator

SCR o} Y3 ollH ¥eilcl.

(v) Silicon control rectifier

(vi) Semiconductor control rectifier
(vii) Semiconductor Current regulator
(viii) Silicon control regulator

DC Als Aot AT Yalls a Bt A ollga

(v) Operating point
(vi) Quiescent Point

(vii) o (i) A (i)
(viii)  8& ual ol
sl SIS ML %d?@&SLG\O‘l YA ?
(v) AP S\U s
(vi) AR Slu s
(vii) 31U QAR USlS SlA
(vii) WAL €38
PUSIR ol AY clles HL
(v) sasaA
(vi) Sl
(vii) 4R (i) A (i)
i) A& ul 18l

wBaye HL ¥c AC sllslzell RMS SlHd el DC sllaleatl JJRltiR &

(v) Ripple Factor

(vi) PIV

(vii) Voltage gain

(viii)  Rectification Efficiency

HecH A B3R Qau B,
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) AC Ycls A8l o A B oll Aol

V) &=

|=

1

|.':“:II
™=

(Vi) @ = m
(vilg = —
(ix) ol (||) ua (iii)
D wun sAseR Ay @ W2 cell yHoly CB gRA2Rel Selye csaallsdl
golad ®.
(v) VEB o\ IE
(vi) VBC 3al IB
(vii)VCC ¥l IE

(viii)  VEB uaIC

'm

k) A A WosUotHl AHLel SIEDL bRlcd e3Rsalel Baus B.
(v) Triac
(vi) SCR
(vii) Diac
(viii)  IGBT
1) ok gRreRA wid A ol s B.
(v) Washer
(vi) LC circuit
(vii) Insulator
(viii)  Heat sink
M) sci AB Anclglar HL sAse? Ydls He dé D,
(v) 360°
(vi) 180°
(vii) 180" &l 360" <A
(viii) < 180°
n) AR WloElctot Asaal HR ofl 2ARd B.
(V) AB>1
(vi) Ap=1
(Vi) AB < 1
(viii)  All of above

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

@)
(b)

(@)
(b)
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Attempt all questions
(3ceR Wed Y? (3ceell (AU YsiR solcl ual S1¢ ULl As UHAIA

RC 38 Rge wAlAzRe] sl AU wal Alell el dARclel sud

Attempt all questions
PNP 4ol NPN ol $RR2R HI2 2@l 55013t ELRL.

cAles, WY cles A walss HIR A ds ol wgld 1A WA UHxAL.

Attempt all questions

D.C. Ydd A8t adc Al fdc ol YA clRal. D.C. Yalg A8et adc el fdc oll A1 cdldl.
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Q-5

Q-6

Q-7

Q-8
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S WRAARR A 512 UHAA A sl2cll UNRAARRA U 52 WRAARRA
ARuHe(l s2A.

Attempt all questions
St H2R Arelglar HIZ D.C. AlS AlESol Al BYE0L W2 uHeAl.

SRR A, SCUU B, S AB & scll C Anellstar uuwHRll s,

Attempt all questions
AR W2 dIF Bt sAsall GUAlol A A

Triac of 5121 UGl A UM A wA Aol GUAN AW,
weR BR(EoL s uuAl.

Attempt all questions

S6ANE RN Yayd waR Arcllsiar €12 wal AMydl.
SCR oll 22Ut cAletR(lscll gl AU UHFA AUA Aol A gRRRR
WA AR UM

Attempt all questions
g Ao U A gAY 511 AHABA Al clell dal AReell seud

cuAl AW
(v) ICBO,
(vi) Sllclset AT AU

(vii) 8RRASs Uy clss
iii) (3t A3l
CE A1cllglaR R¥ 2[@R22 HIZ ULlaR Ael, A%y Aol Aol Yclle ANeSot cAluAL UL
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